it

= 8Y/HMIZ olo|x]

1 Z

o

© HEINRICH KIPP WERK GmbH & Co. KG

W AT, ARIRIA 2O 01 9ZTHO|A 28

oY

T

AEQIBIA AE! 1.4401

M OlF2|

oot U HEH = OHE E2tAE

HH.
2 A HZEXE HolA O8IS AF85t0 £of, x| EE= FE0 5
¢ 2 =0|2 ™dx|E &= U&LICH

22 Pz 722 AF8 0| O{Z L Q1K S &, oFM S0l M
Ot HE|7t @ FE [ 0] WS AMSELct

ChFsh o mi'd 7ol XA 27tX| 27|12 SZELUCH &=
Sall F7I tH7|SO| YELICH SL 7| 2722, ZE H2EX
I HA2 A 5 QS
2lo| &atE aglo| EHAHRE YRIgLCE

A" EHZF4

BY: HIEZH

QHZ=0f|0| M JAz|:

ORI S8l HM, 54, 52 E2 ol A =5 2 =7 o|3 AHolg
2 S35l 20|x| LA L&l

2R E FHOMT HSE £ QaLct
0|

- RS A A

-71H 3%

-EE Qi MEF X

-ES RF MY

- g7t 9l tetet

-olg 7=

"E

Tl et FE ot g BrELICH2. AR ES AE5H0{ FHO|
A-I _T’_7H°|'L.|IZ|-.
3. EHEl 7|o|& A&

gE:

HZol ofedR Mxl 7tolM 2 & 7ts.

OIX BHHMoZ 45 &E Ix| A Its.
ot HE| RXI7t 7 ElE 4EUME & Tts.

F8E LEANM4)Q 2Bl 70|12 OIRE= 22

MMIAME]:
Hgo|3 #| 0|8 K1646.

www.kipp.com - info@kipp.com 1/4



|>

o

= 8Y/HMIZ olo|x]

© HEINRICH KIPP WERK GmbH & Co. KG

W AT, ARIRIA 2O 01 9ZTHO|A 28

EH MY

1) 28l 70| A&
2) & Zotr

3) £of mid

4) & D™HEX| =0(
5 1%

6) 2E A olg

H4

FH

ok
o

Kinn

www.kipp.com - info@kipp.com

2/4



3)\\ .......

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  3/4



°
AHH A EX], AHZ|A BH A0S o1Zdn FHolA] O8]
EZS 29
A0 ATER|, ABIR|A 2O AH0]E 2T} Fo|A g
=S WS EFS] S3Ef EF Q] EH AB D D1 H H1 H2 H3 H4 EZ & 2T M S=20{ FH(mm) 237
712 S| F1 °C
N
K1851.1102356044 A ZEHZ4| ZER{E 1060 49,5 50 35,9 26,6 4,530,5 23 100 - 2-12 M4x6
K1851.1112356044 A ZE 34| ZElRZ| 1060 49,5 50 35,9 26,6 4,530,5 12,5 100 - 12-22 M4x20
K1851.1102356055 A A=Al SZEd ZalAE %2 106049,5 50 35,9 26,64,530,5 23 100 - 2-12 M4x6
K1851.1112356055 A AZAl Sed SatAE %3] 106049,5 50 35,9 26,6 4,530,512,5 100 - 12-22 M4x20
K1851.1002356044 B HIEZ4| ZElRZ| 1060 49,5 50 35,9 26,6 4,530,5 23 100 - 2-12 M4x6
K1851.1012356044 B HIEZ 4! ZEdRZ| 1060 49,5 50 35,9 26,6 4,5 30,5 12,5 100 - 12-22 M4x20
K1851.1002356055 B H|EZ24Al Sed SatAE %3] 106049,5 50 35,9 26,6 4,530,5 23 100 - 2-12 M4x6
K1851.1012356055 B H|EZ Al el HalAeE 2| 106049,5 50 35,9 26,6 4,5 30,5 12,5 100 - 12-22 M4x20

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/4



